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MATHG6040 is a second year module for engineers which
covers vectors, matrices, differentiation and integration.

22 parts solved correctly.
2017 S2 Paper /
\ 6 parts solved incorrectly.

If | graded the paper it would have scored 86%

28 question parts.
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Many challenges were encountered.
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o You oython [*) Copy code
Calculate 0.72 to the power of 5

@ ChatGPT
0.72 raised to the power of 5 equals

Result

approximately 0.1935. [>-) 0.19349176319999997

My Solution: Use ChatGPT 4.0
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Prompt: Solve for x in the equation x * 3/ 6 = 288
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My Solution: Upload screenshots of questions
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Challenge 3: Incorrect Answers

o You

Solve the simultaneous equations 3x + 2y =18 and 2x - 5y = -260

& ChatGPT

Thus, the solutionisz = 2andy = 6

My Solution: Ask again (and again!)
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Correct Answer: det(A) =29 Wh =2i

det(A) = aei + bfg + cdh — ceg — bdi — afh

det(4) = (1)(=2)(-2) + (1)(1)(1) + (1)(1)(=2) = (1)(1)(=2) — (1)(=2)(1) — (1)(1)(1)
det(A)=44+1-2-2-1-1

det(A) =0 =-1



Challenge 4: Incorrect Workings

Task: Calculate det(A) ) [ la @b 1%
=0

d —2e

Correct Answer: det(A) =29 Wh =2i

det(A) = aei + bfg + cdh — ceg — bdi — afh

det(A4) = (1)(=2)(-2) + (1)(1)(1) + (1)(1)(-2) = (1)(1)(=2) — (1)(=2)(1) = (1)(1)(1)

det(A) =4+1—-2-—2-—1-—1 My Solution:
det(A) = 0 = Check every line of workings.
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Challenge 5: Overcomplicated Images

You Graphofy=x"2andy = 2x + 3

100

Sketch the curve y = x*2 and

y=2x+3 on the same set of axes. |
Use the matplotlib library in 60

python. .

40

20

My Solution:

Ask that matplotlib = —

" = =
Is used- “ —1b.0 —71.5 —51.0 —é.S 0.0 2?5 STO 7f5 16.0

X
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Challenge 6: Formatting Solutions

Solution 1: Take Screenshots and manually compile.

Solution 2: Ask for the answers in latex.



	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7
	Slide 8
	Slide 9
	Slide 10
	Slide 11
	Slide 12
	Slide 13
	Slide 14
	Slide 15
	Slide 16
	Slide 17
	Slide 18
	Slide 19
	Slide 20
	Slide 21
	Slide 22
	Slide 23
	Slide 24
	Slide 25
	Slide 26
	Slide 27
	Slide 28
	Slide 29
	Slide 30
	Slide 31
	Slide 32
	Slide 33
	Slide 34
	Slide 35
	Slide 36
	Slide 37
	Slide 38
	Slide 39
	Slide 40
	Slide 41
	Slide 42
	Slide 43
	Slide 44
	Slide 45
	Slide 46
	Slide 47

